Bapuanr 4

3ananme 1. [IpounTaiiTe U nepenuIIUTe MPEAIOKEHUS, HCTIOIB3YS HYKHYIO
dbopmy mpudacTusi, 00pa3oBaHHYIO OT IIaroya B ckoOkax. [lepeBemure
IIPEUIOKEHNS HA PYCCKUU SA3BIK.

1. Having graduated from Cambridge, Newton worked there as a tutor. - Oxkonuus
Kem6pumk, HproToH paboTasl TaM perneTUTOpOM.

2. The instrument being used is very reliable. - Micnions3yemblii mprOop O4eHb
HaJICXKCH.

3. Having been built in the middle of the last century, the British Museum is
situated in central London. - Bputanckuii My3¢eii, MOCTPOCHHBIN B CEPEIUHE
IPOIIJIOr0 BEKa, pacroiokeH B IieHTpe JIoHaoHa.

3aganue 2. [lepenuiure npemioxenus. [luceMeHHO nepeBenTe uX.
[ToguepkHUTE IPUYACTHE U B CKOOKAaX YKaXKUTE, KaKyl0 (PYHKIHUIO B MPEJI0KEHUN
ono Beinosasger. Model: The man waiting for you has come from Paris. —
Yenosek, oxuparonmii Bac, mpuexan u3 [lapmxa. (OyHKIMS — onpeaesieHue).

1. Thermal analysis concerning combustion involves the heat and the temperature.
- Tepmuueckuii aHanu3, KACAIMHCS TOPEHUS, BKIIIOYAET B ce€0s TEIUIO U
temnepatypy.( @yHKIHA — onpeiesicHne)

2. Each disk carrying the moving blades is perforated thus maintaining the same
pressure on both sides of the wheel. - Kaxxaprit 1uck, HeCyMii T1BHKYIIHECs
jonactu, nepdopupoBaH, 4TO MO3BOJIAET MOIEPKUBATH OJUHAKOBOE IaBJICHUE
¢ 00enx cTopoH Koseca. (DyHKIMS — onpe/ieieHne)

3. When asked he brought the papers. - Koraa ero cnpocuiiv, oH mpuHec OyMarm.
(PyHKIHS — OTIpeieICHUE)

4. Oxford is old and historical because it has existed since 912. - Oxcop crapbrit
Y UCTOPHUYCSCKUI, TIOTOMY YTO OH cyliecTBYeT ¢ 912 roga. (DyHKims —
CKazyemoe)

3apanue 3. [IpounTaiiTe mpeasioxKeHus, TMCLMEHHO UX TepeBeaute. Halinure n
MOTYEPKHUTE B HUX HE3aBUCUMBIN MpUYacTHBI 000poT. Model: My colleague
being away, | had to take the decision myself. — Tak kak Mot ToBapwiIIl 10 paboTe
OTCYTCTBOBAJI, MHE MPUILIOCH CAMOMY NPUHATH PEIICHUE.

1. The inventor was demonstrating his new device, with the workers watching its
operation attentively. - M3o0peTarens 1eMOHCTpHUPOBAJ CBOE HOBOE YCTPOMCTBO, a
paboune BHUMATEIHLHO HAOII01aJH 3a €ro PaboTOM.



2. Hydrogen consisting of discrete particles is a molecule, each one made up of 2
hydrogen atoms. - Bogopo, cocTosIHit U3 TUCKPETHBIX YACTHII, TPEICTABIISACT
co0oit MOJICKYJY, KaXKaaA U3 KOTOPBIX COCTOUT U3 2 aTOMOB BOJOPOaa

3. The first question of the agenda having been decided upon, the conference
passed the resolution. - ITociie mpUHATHSA PELICHUS 10 IEPBOMY BOIIPOCY MOBECTKH
JHS1, KOH(epeH s MPUHSIIA PE30TIOIHIO.

3apanme 4. [Tepenummre npeanoxenus. [ToquepkHuTe MHOUHUTHB U YKAXKHTE,
Kakyr (QYHKIIHIO B TIPEIIOKEHUH OH BBIMOJHsIET. [lepeBenTe mpeioxKeHusl.
Model: He stopped to speak to Mary. — On ocTaHOBHJICS, YTOOBI TOTOBOPHTB C
Mbopu. (OyHKIUS — 0OCTOSATEIBLCTBO HENH).

1. The tubes to be made of this metal will be used in different kinds of boilers. -
TpyOsl, KOTOpBIE OYyT U3TOTOBJIEHBI U3 3TOr0 METaJlIa, OyIyT UCHOJIb30BATHCS B
Pa3IMYHBIX TUIIAX KOTJIOB (DYHKIHS - OTpeieieHue)

2. An economizer and an air heater are provided to cool the products of
combustion to the low temperature necessary for high efficiency. - s
OXJIAXKACHUA IIPOAYKTOB CTOPAHUA 10 HU3KOU TCMIICPATYPHI, HCO6XOIII/IMOﬁ JJIA
BBICOKOH 3()()eKTUBHOCTH, IPEAYCMOTPEHBI SKOHOMAN3Ep U BO3TyXOHAIPEBATEIb.
(PyHKIIHS — 00CTOATENBCTBO LETH).

3. To master English we must work regularly. - UroOb1 oBafieTh aHNIHHCKAM
SI3BIKOM, MBI JIOJDKHBI PeryssipHo padotatsh (PyHKIHS — 00CTOSTEIBCTBO HIETIH).

4. The radar detects the stationary objects ahead of the car to warn the driver about
them and slow down the speed. - Panap oOHapykrBaeT HEMOABHIKHBIC OOBEKTHI
nepen aBTOMO6I/IH€M, YTOOBI npeaAynpeaInTb BOAUTEIIA O HUX U CHU3UTH CKOPOCTD.
(PyHKIIHS — 00CTOATENBCTBO LETH).

5. We had fresh water to drink. - V nac Obu1a npecnas Boga ajist mutbs (OyHKIws —
0OCTOSATEIILCTBO 1IEJIN).

3aganue 5. [lepenumute npemioxkenns. Onpenenure Complex Object/ Complex
Subject. ITpennoxenns nmepeseante. Model: We know Professor N. (him) to be a
good specialist in this field. — Ms1 3HaeMm, uto npodeccop H. (oH) xopornit
crienuanuct B 3o obactu. (Complex Object).

1. They had the man do what they wanted. - Onu 3acTaBrIIM 3TOTO YEIOBEKA
nenath T0, 4to o xorenu. (Complex Object)

2. We believe it to be the best way out of this situation. - MsI curTaem, 4To 310
Jy4IIdi BeIXOA U3 cinoxuBiieiics cutyarmu. (Complex Object)




3. The construction company is believed to have concluded 2 big contracts. -
C‘-II/ITaeTCH, 4dTO CTPOUTCIIbHAA KOMITAHHWA 3aKJII0OYNJIa 2 KPYIIHBIX KOHTPAKTA.

(Complex Object)

4. The language of the article turned out to be quite easy. - SI3bIk cTaThbu OKa3ayICs
noBojbHO mpocteiM. (Complex Object)

3apanme 6. [Tepenummre npeanoxenus. [Toq4epKkHUTE TEPYHIUA U ONIPEICIIUTE
ero ¢pyHkIMio B pemiokennn. Ipemnoxenns nepeseaure. Model: His favorite
occupation is reading. — Ero mo6umoe 3ansatre — yteHue (qutath). (DyHKIMSI —
Y4acTh COCTABHOTO CKa3yeMoro).

1. On being turned on the radar will warn the driver of stationary or slow moving
objects on the road. - [Ipu BriIrOUEHUM pagap MPeayNPeIuT BOJUTEIS O
HETIOABIIKHBIX MJIH MEUICHHO ABIKYIIUXCS 00BbeKkTax Ha gopore. (DyHKIus —
OIpeIeICHHUE)

2. One of the problems modern research laboratories are working at is the problem
of finding materials that can serve as electrical conductors in fusion reactors. -
Onnoit u3 npo6siem, HaJ KOTOPOH pabOTarOT COBPEMEHHBIEC HCCIIEI0BATEIBCKHE
na60paTopHH, ABJISICTCA Hp06neMa IMIOUCKa MAaTCpHUaJIOB, KOTOPBIC MOI'YT CIIYKHUTDb
QJICKTPUICCKUMHU IIPOBOAHUKAMHU B TCPMOAACPHBIX PCAKTOpAX. (CDYHKHH}I — Y4aCThb
COCTaBHOT'O CKa3yeMOT0)

3. A constant speed of the device is maintained by supplying it with energy. -
[TocTosiHHAst CKOPOCTH PabOTHI YCTPOUCTBA MOAACPIKUBACTCS 3a CUET MO1auu B
Hero sHeprur. (DyHKIHS — 4aCTh COCTABHOTO CKa3yeMOoro)

4. He finished reading the book. - On 3akon4wn untath KHUTY. (PYHKIIHS — YacTh
COCTAaBHOTO CKa3yeMOoro)

5. It is important for industries to investigate the possibility of recovering the
millions of calories of heat that are lost every day. - [IpombIuIeHHBIM
NpCAINPpUATHUAM BaAXXHO U3YUUTb BO3MOKXHOCTb BOCCTAHOBJICHUS MHUJIJIMOHOB
KaJOPHI TETia, KOTOPBIC TEPSIOTCS KaK/bli eHb. (DYHKIIMSA — onpeiecHIe)

3amanue /. [lepenuinre v nepeBeaUTE YCIOBHBIE MPEITTOKEHUS.

1. I would never feel comfortable on a plane if | knew it's the pilot's maiden trip. -
41 O6b1 HUKOT/1a HE YYBCTBOBAJ ce0st KOM(OPTHO B CaMOJIeTe, €CIIH ObI 3HAJ, YTO
9TO IIEPBBIN MOJIET NUJIOTA.

2. A dog will never bite you if you look it straight in the eyes, I'm told. - Mue
TOBOPHWJIM, YTO cOOaKa HUKOTAAa HE YKYCHUT Te€Osl, €CJIM Thl IOCMOTPHILb €i TIPSIMO B
rijasa.


https://www.translate.ru/%D0%BF%D0%B5%D1%80%D0%B5%D0%B2%D0%BE%D0%B4/%D0%B0%D0%BD%D0%B3%D0%BB%D0%B8%D0%B9%D1%81%D0%BA%D0%B8%D0%B9-%D1%80%D1%83%D1%81%D1%81%D0%BA%D0%B8%D0%B9/caravelle
https://www.translate.ru/%D0%BF%D0%B5%D1%80%D0%B5%D0%B2%D0%BE%D0%B4/%D0%B0%D0%BD%D0%B3%D0%BB%D0%B8%D0%B9%D1%81%D0%BA%D0%B8%D0%B9-%D1%80%D1%83%D1%81%D1%81%D0%BA%D0%B8%D0%B9/caravelle

3. The first thing | will do is drive to Spain if | get my driving licence. - Ilepsoe,
4To s CACJIar0, 3TO IOCAY B I/ICHaHI/IIO, CCJIM IIOJYy41y BOJUTCIILCKHC IIpaBa.

3ananme 8. [IpounraiiTe TEKCT, NEPENUIINTE €O U NIEPEBEIUTE TUCBMEHHO 1 -if, 3-
1 1 4-i1 ab3aupl.

Current electricity

1. If two equally and oppositely charged bodies are connected by a metallic
conductor such as a wire, the charges neutralize each other. This neutralization is
accomplished by means of a flow of electrons through the conductor from the
negatively charged body to the positively charged one. (In some branches of
electrical engineering, electric current has been conventionally assumed to flow in
the opposite direction, that is, from positive to negative.) - Eciu aBa oguHaKoBO 1
IMPOTHUBOITIOJIOKHO 3apPs’KCHHBIX TCJIa COCANMHCHBI MCTAJINIMYCCKUM ITPOBOAHUKOM,
TaKUM Kak IPOBOJIOKA, 3apsA/ibl HEUTPATU3YIOT APYT Apyra. JTa HEeUTpaau3aus
OCYHICCTBICTCA MMOCPCACTBOM ITOTOKA 3JICKTPOHOB UYEPC3 MPOBOAHHK OT
OTPULATEIBHO 3apsHKEHHOTO TeJa K MOJIOKHUTENBHO 3apssKeHHOMY. (B HeKoTOphIX
00J1acTaX QICKTPOTCXHUKHU IIPUHATO CHUTATD, YTO BJIGKTpI/ILIeCKI/If/'I TOK TCYCT B
IMPOTHUBOIIOJIOKHOM HAIIPABJICHUH, TO €CTh OT ITOJIOKUTCIBHOTI'O K
OTpHUIIATEIHLHOMY.)

2. In any continuous system of conductors, electrons will flow from the point of
lowest potential to the point of highest potential. A system of this kind is called an
electric current. The current flowing in a circuit is described as direct current
(DC) if it flows continuously in one direction, and as alternating current (AC) if it
flows alternately in either direction. 130

3. Three interdependent quantities determine the flow of direct currents. The first
is the potential difference in the circuit, which is sometimes called the
electromotive force (emf) or voltage. The second is the rate of current flow. This
quantity is usually given in terms of the ampere, which corresponds to a flow of
about 6 250 000 000 000 000 000 electrons per sec past any point of the circuit.
The third quantity is the resistance of the circuit. Under ordinary conditions all
substances, conductors as well as nonconductors, offer some opposition to the flow
of an electric current, and this resistance necessarily limits the current. The unit
used for expressing the quantity of resistance is the ohm (V), which is defined as
the amount of resistance that will limit the flow of current to 1 amp, in a circuit
with a potential difference of 1 V. This relationship is known as Ohm’s law and iS
named after the German physicist George Simon Ohm, who discovered the law in
1827. Ohm’s law may be stated in the form of the algebraic equation E =1 xR, In
which E is the electromotive force in volts, I is the current in amperes, and R is the
resistance in ohms. From this equation any of the three quantities for a given
circuit can be calculated if the other two quantities are known. Another



formulation of Ohm'’s law is | = E/R. - Tpu B3anMo03aBHCHMbIEC BETHIHHBI
ONPEAENSIOT IPOTEKAaHUE MOCTOSHHBIX TOKOB. 11epBBIif - 3TO pa3HOCTH
MOTEHIIMAJIOB B LIETIH, KOTOPYIO MHOT/IA HAa3bIBAIOT AJIEKTPOABUKYILECH CHUIION
(BOAC) nnu HanpskeHueM. BTopoi - 3To cKOpocTh MPOTEKaHUs TOKA. JTa
BEJMYMHA OOBIYHO YKa3bIBAETCA B €IMHUIIAX aMIIEPa, YTO COOTBETCTBYET MOTOKY
okoj10 6 250 000 000 000 000 000 >1EKTPOHOB B CEKYH/Y, TPOXOSIIEMY YEpE3
JT100YI0 TOUKY 1enu. TpeThsi BeIMYMHA - 3TO CONPOTUBIIEHHUE 1enH. [Tpu 0ObIYHbIX
YCIIOBUSIX BCE BEIIECTBA, KaK MMPOBOJIHUKH, TaK U HEMPOBOJAHUKHU, OKA3bIBAIOT
HEKOTOPOE CONMPOTUBJICHUE MPOTEKAHUIO JIEKTPUUECKOIO TOKA, U 3TO
CONPOTUBJICHUE 00s13aTE€ILHO OrpPaHUYMBAET TOK. Equnuiieit uamepenus,
UCITIOJIb3yEeMOM JIJIsl BRIPAXKEHUSI BETMYMHBI COPOTUBIIEHUS, siBiisgeTcst Om (B),
KOTOPBIN ONpEAENsIeTCs] KaK BEJIMYMHA COIPOTUBIICHUS, KOTOPAsk OTPAaHUYUT
IIPOTEKaHUE TOKa 10 1 aMmriepa B LIENHU ¢ pa3HOCTBIO NOTeHIMaIoB 1 B. OT1o
COOTHOIIIEHHE U3BECTHO, Kak 3aKOH OMa M Ha3BaHO B YECTh HEMELKOIO (pr3uKa
['eopra Cumona Oma, KOTOPBIM OTKPBUI ATOT 3aKOH B 1827 roxy. 3akon Oma
MOXKET

4. When an electric current flows through a wire, two important effects can be
observed: the temperature of the wire is raised, and a magnet or a compass needle
placed near the wire will be deflected, tending to point in a direction
perpendicular to the wire. As the current flows, the electrons making up the
current collide with the atoms of the conductor and give up energy, which appears
in the form of heat. The amount of energy expended in an electric circuit is
expressed in terms of the joule. - Korna siekTpudeckuii TOK MPOTEKAET IO
MPOBOY, MOXHO HAOJIIOJATh JIBa BaXHBIX d(pdekTa: TeMieparypa npoBojia
IMOBBIIIACTCA, U MAaIrHUT WUJIHK CTPCIIKA KOMIIAaCa, pa3sMCIICHHBIC PAIOM C IIPOBOJOM,
6yI[YT OTKJIOHATHLCS, CTPEMSACH YKA3bIBATh B HAIIPABJICHUHU, IICPIICHAUKYJISIPHOM
npoBoay. [Ipy nporekaHnm Toka 3JIEKTPOHBI, COCTABJISIONINE TOK, CTAJIKUBAIOTCS C
aTOMaMU IIPOBOAHHUKA U OTHAIOT DOHCPIUIO, KOTOPAad IIPOABILACTCA B BUAC TCILIA.
KonnuecTBo sHEpruu, 3aTpayuBacMom B AJIEKTPUYECKON LIETH, BBIPAXKAETCS B
JOKOYJISX.

3ananme 9. [lucbMEHHO OTBETHTE HA BOMPOCHI K BBIIIETIPUBEICHHOMY TEKCTY.

1. In which direction electrons will flow in any continuous system of conductors? -
In any continuous system of conductors, electrons will flow from the point of
lowest potential to the point of highest potential.

2. What quantity is usually given in terms of the ampere? - The rate of current flow
is usually given in terms of the ampere.

3. How do we call the unit used for expressing the quantity of resistance? - The
unit used for expressing the quantity of resistance is the ohm (V).



4. What can be observed when an electric current flows through a wire? - When an
electric current flows through a wire, two important effects can be observed: the
temperature of the wire is raised, and a magnet or a compass needle placed near the
wire will be deflected, tending to point in a direction perpendicular to the wire.

3apanue 10. Mcrions3ys JaHHBIC CIIOBA, COCTABhTE MPEIJIOKEHNUS .

1) of, second, the, is, rate, the, flow, current; - The second is the rate of current
flow.

2) is, the, raised, temperature, of, the, wire; - The temperature of the wire is raised.
3) other, charges, the, each, neutralize; - The charges neutralize each other.

3apanme 11. [ToctaBbTe NpesIoKeHUE B BOIIPOCUTENIBHYIO U OTPHUILIATEIIbHYIO
bopMBL.

The amount of energy expended in an electric circuit is expressed in terms of the
joule.

The amount of energy expended in an electric circuit is not expressed in terms of
the joule.

Is the amount of energy expended in an electric circuit expressed in terms of the
joule?



